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e A H
T I 7 A
S T — 1T H 800 1,660 825 835
$5h) T —TH 555 1,298 638 660
$5h) T —=TH 757 1,621 831 790
3k  /hE * % 2,112 4,579 2,294 2,285
Z=oalil — 1 H 1,235 2,524 1,223 1,301
=il NE 1,224 2,282 1,111 1,171
Z=oalil —= 1T H 1,345 2,670 1,307 1,363
=il uTH 844 1,965 978 987
* %k /phE * % 4,648 9,441 4,619 4,822
E=IREe — 1 H 1,016 2,012 968 1,044
E=IREe —TH 1,026 2,152 1,028 1,124
E=IREe =TH 1,735 3,012 1,420 1,592
=Rk L E! 1,097 1,754 836 918
* %k /phE * % 4,874 8,930 4,252 4,678
B — 1T H 1,005 1,998 995 1,003
)1 —TH 696 1,630 818 812
)1 =TH 1,187 2,596 1,272 1,324
)1 L E! 920 1,984 987 997
* %k /phE * % 3,808 8,208 4,072 4,136
PHET)I — 71 H 887 1,834 907 927
PRET)I| —TH 747 1,663 780 883
PRET)I| —=TH 366 803 377 426
PRET)I| T H 1,389 2,907 1,445 1,462
* % /pNEF % % 3,389 7,207 3,509 3,698
* k 2REE* % 42,980 83,268 40,343 42,925

e A H
I T | Bk 7 z
FR AR —TH 3,071 6,353 2,970 3,383
FRAHT  — T H 732 1,508 743 765
FRAHT =T H 1,214 2,654 1,298 1,356
FOiRART PUTH 2,094 3,480 1,505 1,975
*k  hEE kk 7,111 13,995 6,516 7,479
o IR — 1 H 1,146 2,042 995 1,047
o AR —TH 968 1,976 1,005 971
o IR —=TH 1,477 2,873 1,423 1,450
o AR T A 687 1,437 709 728
o AR LT H 1,849 3,661 1,851 1,810
*k  hEE kk 6,127 11,989 5,983 6,006
VG iR — 1 H 786 1,133 571 562
VG iR —TH 485 915 404 511
*k  hEE kk 1,271 2,048 975 1,073
TR — 1 H 726 1,192 564 628
TR —TH 756 1,471 717 754
TR =TH 525 830 410 420
*k  hEE kk 2,007 3,493 1,691 1,802
HUFIIR — 1 H 2,062 3,128 1,413 1,715
HUFIIR —TH 807 1,328 617 711
HUFIIR —~TH 954 1,672 790 882
HUFIIR T H 414 609 301 308
TS 4,237 6,737 3,121 3,616
5 — T H 590 1,071 545 526
5 —TH 758 1,615 819 796
5 =TH 1,409 2,692 1,322 1,370
Y5 T H 639 1,263 625 638
TS 3,396 6,641 3,311 3,330




